R G3 HER HSE AR AR 188 28 B 1] =5

AT

H af 4% 4H 1H

= SFf144% 3HS31H

EHpH  SMS5FE4H1H



EEANE

R 57 W B B AR G 81 28 B DA 2

1. MaE (MEFEMIE) OFFREROIBMN
FHTE FHEES (R4 FE~RISFED 10 FH)
(4) MERHEHE (MoE OME R OWRRICE T 2

OHFHREBRDIBIN

MEFHE AR (FrEm)

700m

E))

fRETE (HEDRRXIFHRICEYT 5 EHE)

OBk [Bifs : ERm. Efshal
R & N FIES =
2RE R S:) Bmom s | SEEU | RARE | oeq M 5 s
3R (FRRT4T) R | EtEERT T
BE% HENEE o Lt # R # 1,500 85 1
" " " NEHE - PR 800 68 2
" " " =K -F"R 1,600 50 3
" " " ABKRKIKE2E 834 303 O 4
" " " X E ILE = 3,262 90 5
B 5 B 7,996 834
BE% BHENEE B i ) &% % @ &b 2,270 90 1 £ &
" " " & va 8 1,000 46 2
" " " pis +H 1, 000 140 3
" " " T = 3,570 355 4
" " " T ) 1,010 14 5
B 5 B 8 8, 850
BAE% HENEE B O# | M x 3, 000 149 1 &
" " " ~ K =] 1,320 36 2
" " " = g AN 4,173 333 O 3 |EEm-ER
B 3 B O#® 8, 493 4,173
PERER R 13 B’ #® 25, 339 5,007
BAE% HENEE i == s I =< I 7 3,000 184 O 1
" " " N y= & 2, 500 43 2
" " " & H 2,500 49 3
" " " Ei B 2,500 26 4
" " TEEME " = = i} 5, 400 549 [ 5
" " MEERE " F X 700 49 (€) 6 Esibsil
&t 6 & % 16, 600 9,100
BAEX HENEE EHRAHFH| Db IR 2,700 119 1
" " " ~ ) | 1,500 109 O 2
" " " K - X£gE 4 1,500 17 O 3
" " " H B F A K 2,015 21 4
" " " th BE 3, 600 102 5
" " " f5 H x = 2,100 102 6
" " " = B 1,700 54 8] 7
" " " ME LR 1, 000 37 O 8
B 8 B R 16,115 5,700
ERRER  BAEE 14 B #]R 32 715 14, 800
K5 AR AR A B X FARRE 21 & 58, 054 19, 807




